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4. The circuit below had been energized since before dinosaurs roamed the earth. At some later
point in time however, a 50-ton titanosaur Argentinosaurus huinculensis steps on the 2mA current
source, instantaneously removing it from the circuit at time ¢ = 0.

(a) What is the value of I, at time #,-? ‘4'0" 1S '\303’\" before, The
(b) What is the value of Iy at time t,-?
(c) What is the value of V7, at time -7
(d) What is the value of I, at time tq+? (
(e) What is the value of Tg at time £+ ? -
(f) What is the value of Vz, at time to+?
(g) What is the value of Iy, at time ¢ = co?
(h) What is the value of Ir; at time ¢ = co?
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